[image: image2.png]L ls



                                                     天津中考网tj.zhongkao.com

[image: image1.jpg]|
3
|
|
‘

i
;

\
;
1

Nt S AT O

LIHRX 2010—2011 ZEHE %5
MR HrEERERR(2011 £ 4 B)

— EHEEGR I 10 BB /NE 2 97,36 20 D BAE

BHBNERF AE R EHE.
1LC 2B 3.A 4D 5B 6D 7.B 8D 8.A

10.C

BENZERASH 2 THAF S AR A HF
AERE LS R LA - TIRAEBNTRES .
11.A 12.AD 13.C 14.BC 15.BD
ZREMGERE, 4 E 205D
16. (6 4 (/= 1 M) (DL HO0
NaCl(5)NaHCO, (6)HCI
17. (64 (EE 1 (DDA CB (DD 13g @12+ 1
18. (6 4 )(HA 1 . G LEHERX 2D
CLB BB Tk A s R R
(2)Cl, +2NaOH= NaCl+NaClO+ H, 0
wc
19. (2 ) (BE 1 AMDARN  (DOREE
WA R (R KRS 3 3t 20 41)
20. (8 ) 241
(1)CO, +2NaOH=Na,CO, + H,0

(2)4P+50, EQZPZ()@
(3)H, S0, +BaCl, =BaS0, { +2HC}

i

[€)).2-%: 3

(4)Na, CO, + 2HCI=2NaCl+ H,0+CO, + (EmAﬂ

BREAB
21 (S 15, MEEFTRR 24D

(14 (2)ZnS0, ,FeSO, (3) Fe+ CuSO, =——FeSO, +

CuC£HER 15
22. B4 (BE 14, B MEEFBR 25

(DR Cu+t Hg(NO,), —Cu(NO,)2+Hg(§$AEED

BE Yol

— S CR AR 5 ANE 2 A 35 10 5D S |

HE WA TR A L~2 M F AR R — P RIRE | 55

(2)Ca(OH), (3)CO, (4)

Pl

i 24

| 25.

(2)CuO(3)INa, CO, (ERABA S, MHE AT EH R
#%) 2NaOH+CO, =Nz CO, + H,OUE RAHH
4 EES E—E M)
(4)BD(ERERE 1 4)

EREGRKELIE 204
L (64D (BB 1 A ALETRR 24

(1)AE;2KMnO, ==K, Mn0, +Mn0, +0, 4

()BC; XHIGE a. MK AR F PEAK, KEHER
#H—&AfE (HAD

OMEE1L BMEFRA 24

COBMR (2)H, SO, +Zn=ZnSO,+H, }
(3)¥3% (4)NH,;NH,Cl

(7 4¥) (1) Na, SO, ; NaOH, Na, CO, (2 #E 2 %1 1§ 1 4>
(DCaCO, \BaCO(LFEM B 14 (HDOHBBOD
5 SR BE 12 RO18%

J(EKRE2E S 104
. WD DBREF BT T IRREN TS £,

HE R R, AW CO, MR

10g+2,0g—11, 34g=0. 66g as
CaCO; +2HCl —CaCl, + H, 0+CO; 4

100 44

z 0.66g

100+ z—44 * 0. 66¢ a4
*=1.5¢ (149
(ORFAR—H 2R BRIAEEDOTHAEH

BRATEHERENERN LS, NBASREAS
TEMFERN2X1, 5gX (40+100X100%)=1.2¢
a4
G (8g AS MR MM EFA T ATRN AR,
@
(DOFREMEMNELBORRY . FEEALURR
Hy

CuO+H, icwﬁ,o W B R
80 2 64 16
x ¥ 8g
80t x=16: 8g
x=40g A4
21y=16:8y x=lg 4P
AR lg S HRRHERY 2
Zn+H,S0, =—ZnSO, + H, }

98 2

z 1g
98:2=211g -

2=49g as

VORBEM) =149+98% <1, 84=27. 2mL(1 4




[image: image2.png]